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Causes and Consequences)
Paper : SW-12 1. (i) Define Juvenile delinquency.

Time : 3 Hours | [ Maximum Marks : 70
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Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given ..
W P IV (i1) Define caste.

instructions.
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Section-A 7x2=14 (iii) Discuss the various causes of Gender

Very Short An T ti
(Very Short Answer Type Questions) inequality in India.

Note .— Answer all questions. As per the nature of the

question delimit your answer in one word, one yrE # Svex () SEHEE B Y@
sentence or maximum up to 30 words. Each
question carries 2 marks. 1 == RIS

SW-12/7 (1) TT-255 1TurnOver SW-12/7 (2) TT-255



(iv) Mention the basic features of PCPNDT Act. gus—d

PCPNDT stfuftem =1 yq@ fagman fafew | (7T, ST 9e)
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(v) Define marriage.

foare =1 aftwnfog wifsw
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(vi) What do you mean by landless labour ?
2. Explain the problems of Industrial labour.

: -
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(vit) Write any fwo types of addiction. 3. Classify the criminals according to Lombroso.

=T % w v fafen TSI & STIHR STIXET h1 FAONRTT hifST |
Section-B 4x7=28 4. Elaborate the domestic violence.
(Short Answer Type Questions) W] e w0 ¥ ? fowga foee= wifsw)
Note .— Answer any four questions. Each answer should not 5. Explain the effects of addiction on society.
exceed 200 words. Each question carries 7 marks. TS W F99 & Y9El 1 faa=a wifsm)
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6. Discuss the efforts to eradicate social problem. gus—H

(&d I 99)
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7. Write a short note on labour organisation.

8. Explain the main causes of illiteracy in India. 10. Flaborate the characteristics of crime in the

perspective of Indian Society.
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9. Describe the concept of inequality.
11. Discuss the causes and impact of female foeticide

oo &1 SATYRON i AR ST | in India.
Section—C 2x14=28 TG H FA1 YO TA H HRO TH GHE HY fqere
RIS |

(Long Answer Type Questions)
12. Define child marriage. Elaborate the ill-effects of

Note .— Answer any two questions. You have to delimit child marriage.

your each answer maximum up to 500 words. ST foams 1 aRug Hfe ) STe-faem & geurorm
Each question carries 14 marks. T FUA IS |
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13. What efforts should be made to improve the

conditions of Industrial labour ?
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